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BRIZR D@ Y . 3: 3rd person, acc: accusative, cnj: conjunction, cop: copula, du: dual, f: feminine,
gen: genitive, hest: hesternal, hod: hodiernal, intj: interjection, ipfv: imperfective, m: masculine,
nom: nominative, pst: past, Q: polar question marker, quot: quotative, refl: reflexive,
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(D) TEHEIRED 2] TWREH L7 < TRRDSRIZATE. )
Takada=m-m ki aa
Takada=3.f.sg.nom-Q hod.pst come
‘Did Takada come (today)?’
iT?i, cla Takada=hi ki aa, Jiro=bi ja aa
intj, not Takada=3.m.sg.nom hod.pst come, Jiro=3.m.sg.nom cnj come

‘No, Takada did not come, but Jiro came.’

() TREN KT 2 | TTRRA K= K. )
maa=hi ki aa
Who=3.m.sg.nom hod.pst come
‘Who came today?’
Jiro=bi ki 4a
Jiro=3.m.sg.nom hod.pst come.
‘Jiro came.’
Cf. Jiro=m li-ki=bi ki aa
Jiro=3.m.sg.gen one-focus=3.m.sg.nom hod.pst come

‘Only Jiro came today.’

@) [FEHOHNRKENALLRND 2 | TR, HH L7 T, ZBOIFRRE VAT )
Takada=m-m Jiro=m ka !40
Takada=3.m.sg.gen-Q Jiro=3.m.sg.gen than tall
‘Is Takada taller than Jiro?’
ii?, Jiro=bi Takada=m ka !40
intj, Jiro=3.m.sg.nom Takada=3.m.sg.gen than tall
‘No, Jiro is taller than Takada.’
Cf. iT?i, Takada-ya=tsera ka Jiro=bi 140
intj, Takada-associative=3.m.du.gen than Jiro=3.m.sg.nom tall

‘No, Jiro is taller between Takada and Jiro.’

(4 T(EFET) EoL7en?2] [HAGBEIAPKRIZAIE. ]
iTyo=si ts’an-si
what=3.f.sg.nom make-refl
‘What’s happened?’
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K'6e=bi nif 42
person=3.m.sg.nom just.now come
‘A man just came.’
Cf. lqy’4e-ko=bi nli da
visit-person=3.m.sg.nom just.now come

‘A visitor just came.’

Gk [HDOTHN ZERENIN =D ? | T, ZEFC %72 < THRBEZINZ. |
?3a=th [ad=m-m ki Jiro=ma Iqy’am
that=3.m.sg.gen child=3.m.sg.gen-Q hod.pst Jiro=3.m.sg.acc hit
‘Did that boy hit Jiro (today)?’
iT?1, ?abi Ki cU4 Jiro=ma lqy’am ja Takada=ma lqy’am.
no, he hod.pst not Jiro=3.m.sg.acc hit but Takada=3.m.sg.acc hit
‘No, he didn’t hit Jiro but hit Takada.’

(6) (7) No data.

@) N(BdOFHHT) ez D2 | [(HOFHHT) AoDMainizAT.
23=m [0&=bi ki mad=ma lqy arh
that=3.m.sg.gen child=3.m.sg.nom hod.pst who=3.m.sg.acc hit
‘Whom did that boy hit?’
2abi ki ?am yibayo(-ki)=ma lqy’arh.
he hod.pst his brother(-focus)=3.m.sg.acc hit.
‘He hit his brother.’
Cf. ?abi ki 2am ka yibasi=ma lqy’arh.
he hod.pst his of brother=3.m.sg.acc hit
‘He hit his brother.’

) [(EFET) EHL7z0?) [HA, ZHR (D) shaiinizilz. )
iTyo=si ts’an-si
what=3.f.sg.nom make-refl
‘What happened?’
Jiro=bi ?am yiboydo=ma lqy’arh
Jiro=3.m.sg.nom his brother=3.m.sg.acc hit
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¢Jiro has hit his brother.’
(10) TbDr—xE5 L2 Thdh, (biud) ZHrRE Lol k.
tsi q’0 maa ca ?a=si paré=sa hi
you pst how imitative that=3.f.sg.gen cake=3.f.sg.acc do
‘How did you do with the cake?’
Jiro=bi qy’6 2&sa +2uil.
Jiro=3.m.sg.nom pst it.f.sg.acc eat

‘Jiro ate it.

(1) EAFERIENDE S TEDIZZOF LU U7, |
nli glia ka cia i 22 bentere=si wa I24i ja 43=sa ?a
this orange which me hest.pst that shop=3.f.sg.gen in buy and come=3.f.sg.acc cop
“This is the orange which I bought in that shop.’

Cf. ciré c"i pli=si glia=sa ?a bentere=si wa |24 ja a3
I hest.pst this=3.f.sg.gen orange=3.f.sg.acc that shop=3.f.sg.gen in buy and come
‘I bought this orange at that shop and came back yesterday.’

Cf. pli glia=sa 2a
this orange=3.f.sg.acc cop

“This is an orange.’

(12) T NTIATE. ZOFKRTH H SFE@HN TS, |

2a=m k"6&=bi tiitséra ja nli=si kalé=si wa n!tna kari=dzi ka tséé

that=3.m.sg.gen person=3.m.sg.nom teacher cnj this=3.f.sg.gen school=3.f.sg.gen in
three year=3.f.pl.gen for work

“That person is a teacher and works at this school for three years.’
(13) No data

(18) THD ANPELDBRE AT (FRALNZRWIIRT [HNELDR] L)), |
43— k"6é=bi 71, ?&si ka lai=ma
that=3.m.sg.gen person=3.m.sg.nom cop, her.gen of parent=3.m.sg.acc
‘(It) is that man, her father.’
Cf. ma3 ?8si ka lin=ma ?a
which her.gen of parent=3.m.sg.acc cop
“Which one is her father?’
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(15) THI%H LI HOROHD Z 72, |
a. Ihti-larh ca mii=si ¢i 120d-yi=m larh=m n#6r6?20-ji=m larh=ma nlag

aftertomorrow-day =~ quot  say=3.f.sg.nom ipfv. tomorrow-for=3.m.sg.gen
day=3.m.sg.gen back-for day=3.m.sg.acc mean

‘Saying “lhuii-larh” means the day for tomorrow’s back.’
b. Ihadi-larh=bi ! 24ii-ji=m larh=m nt6r5?20-yi=ma (?3)

after.tomorrow-day=3.m.sg.nom tomorrow-for=3.m.sg.gen day=3.m.sg.gen
back-for=3.m.sg.acc (cop)

‘Ihaii-larh is the day for tomorrow’s back.’

(17) FX LB O a— b —NETNTE Q) [ERTENBRTTN? ) THBRITRTE]
maa téé=m=yi=ma ?a
who tea=3.m.sg.gen-for=3.m.sg.acc cop
‘Who is for coffee? (Who will have coffee?)’
Cf. ylii cia-ki=da ?a
this me-focus=me cop

‘Here it’s me.’

(18) 2D L < TEWAT (HE2Y) B
3 +yaja ka qaba ?a gHi=si daru
that book which new cop thick==3.f.sg.nom expensive
“This/that new thick book is expensive.’
+yaja ka ?a qaba ?a gti=si dard
book which that new cop thick=3.f.sg.nom expensive
‘This/that new thick book is expensive.’
Cf. nli=si fx4ja=si dara
this=3.f.sg.gen paper=3.f.sg.nom expensive
“This book is expensive.’
Cf. haja ka yli=si durd
book which this=3.f.sg.nom expensive
“This book is expensive.’
Cf. nli faji ka dgit=si dard
this book which thick=3.f.sg.nom expensive

“This book which is thick is expensive.’
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Cf. 2 +yaja ka qaba=si dard
*qaba si +yaja ka gHi si duru.

*)li si +y4ja ka gHi si duru.

(19)3THR : AUV HOHE 2 AdL TR\ . BT 2 PR 720,
a. ména saukuri=si hai-cee

intj sugar=3.f.sg.nom exist-not

‘Oh there is no sugar!’
b. plam stikuri=si had-cee

intj sugar=3.f.sg.nom exist-not

(20) No data.
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